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OEMAT
Program thema_3

var
sum, mo, xrewsi: real;
0gos, i: integer;
name: string[30];

begin
sum:=0;
fori:=1to 50 do
begin
readl (name, 0gos);
if ogos<=2 then
xrewsiz= 10*ogkos+3;
else if/ogos <= 6 then
Xrewsit =(0gos+2)*2.5+2*10+3;
else
XFewsi:={0gos-6)*1.5+2*10+4* 2 5+3;
writeln (name,|xrewsi);
sum: =sum-+Xrewst;
end;
mo:=sum/50;
writeln (mo);
end.

OEMA A
Program thema_4

var
metritis, epivates: integer;
tipos: char;
sum, Xrewsi: real;



procedure ypologismos (xr, type, pas);
var
pas: integer;
type: char;
xr: real;
begin
readln (type, pas);
if type="A’ then
xr:=10+pas*5;
else if type= ‘M’ then
xr:=20+pas*5;
else
xr:=30+pas*5;
end;

begin
metritis:=0;
sum:=0;
repeat
begin

ypologismos (xrewsi, tipos, epivates);

writeln (xrewsi);
end;
if tipos='®’ then
begin
metritis: = metritis +1;
end;
sum:=sum-+xrewsi;
until tipos= ‘TEAQOZ’
writeln (metritis, sum);
end.



